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Section - I (English)

Q.No: 1 In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternative suggested, select
the one which best expresses the same sentence in Passive/Active Voice.

They have built a perfect dam across the river.

A perfect dam has been built by them across the river.

Across the river was a perfect dam.

A perfect dam should have been built by them.

Across the river a perfect dam was built.

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph:

Artificial Intelligence

Artificial Intelligence (AI) refers to the development of computer systems that can perform tasks that typically require
human intelligence. These tasks include speech recognition, problem-solving, and decision-making. AI systems use
algorithms to analyse data and learn from patterns, improving their performance over time. While AI has the potential to
revolutionize various industries, ethical considerations, such as bias in algorithms and job displacement, must be addressed.

What potential does AI have for industries?

No potential

Limited potential

Potential to revolutionize various industries

Potential for artistic performances

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph:

Artificial Intelligence

Artificial Intelligence (AI) refers to the development of computer systems that can perform tasks that typically require
human intelligence. These tasks include speech recognition, problem-solving, and decision-making. AI systems use
algorithms to analyse data and learn from patterns, improving their performance over time. While AI has the potential to
revolutionize various industries, ethical considerations, such as bias in algorithms and job displacement, must be addressed.

What ethical considerations are mentioned in the paragraph, regarding AI?

Increased bias in algorithms

Lack of job displacement

Ignoring patterns

Avoiding speech recognition

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph:

Artificial Intelligence

Artificial Intelligence (AI) refers to the development of computer systems that can perform tasks that typically require
human intelligence. These tasks include speech recognition, problem-solving, and decision-making. AI systems use
algorithms to analyse data and learn from patterns, improving their performance over time. While AI has the potential to
revolutionize various industries, ethical considerations, such as bias in algorithms and job displacement, must be addressed.

Why is job displacement mentioned as an ethical consideration?

Because it enhances job opportunities

Because it has no impact on employment

Due to potential job loss caused by AI

Ignoring the role of AI in job markets

Q.No: 5 Choose the correct part of speech for the underlined word in the sentence.
He ran quickly to catch the bus.

Adverb

Adjective

Verb

Noun

Q.No: 6 Choose the opposite of "Harmony"?

Agreement

Conflict

Concord

Unity

Q.No: 7 Choose the correct term for "A person who studies and records past events":

Sociologist

Anthropologists

Historian

Geographer

Q.No: 8 What is the present tense of the verb "to speak" in the sentence given below?
Mohan (to speak) ________ very clearly.

spoken

spoke

will speak

speaks

Q.No: 9 Choose the correct plural of "analysis":

analysis's

analyses

analysises

analytica

Q.No: 10 Choose the correct article in English grammar that completes the sentence:
I would like to order ____ cup of coffee, please.

a

an

the

No Article Required

Q.No: 11 Choose the word that means "to praise highly; to speak or write in favour of":

Reprove

Laud

Deprecate

Condemn

Q.No: 12 Choose the correct part of speech for the underlined word in the sentence.
The teacher assigned a challenging project to the students.

Verb

Noun

Adjective

Adverb

Q.No: 13 Choose the correct question tag from the four options given, that completes the sentence logically and grammatically:
She can speak Spanish, __________?

does he

can she

isn't she

can't she

Q.No: 14 Choose the correct part of speech for the underlined word in the sentence.
The children played happily in the garden.

Adjective

Verb

Adverb

Noun

Q.No: 15 What does the word "quell" mean?

Agitate

Inspire

Incite

Suppress

Q.No: 16 Choose the correct option that completes the sentence logically and grammatically:
The students were asked to write a paragraph ______ their favourite book.

about

for

with

at

Q.No: 17 Fill in the blank with the correctly spelled word:
The mountain climber faced a ________ challenge as he ascended the steep peak.

Formidable

Formidible

Formadable

Formidabble

Q.No: 18 Identify the sentence in present tense.

We are watching a movie right now.

The Taj Mahal was built in the 17th century.

She will write a letter to her grandmother tomorrow.

I have been studying for the exam all morning.

Q.No: 19 Identify the correctly punctuated sentence:

Although tired, she still went to the gym.

Although, tired she still went to the gym.

Although tired she still, went to the gym.

Although tired she still went to the gym!

Q.No: 20 Choose the correct meaning of the idiom or phrase underlined in the sentence:
The new employee was thrown in at the deep end on his first day.

Allowed to relax

Given challenging tasks

Given easy tasks

Encouraged to take a break

Q.No: 21 Which of the following is in passive voice?

We played cricket in the park.

They will build a new bridge.

She is reading a book.

The cricket match was played by them in the park.

Q.No: 22 Arrange the following jumbled sentence into a coherent order:

A. Train

B. On

C. Express

D. Arrives

E. Time

F. Always

G. The

G-A-D-C-F-B-E

C-A-G-D-B-E-F

G-C-A-F-D-B-E

G-B-C-T-D-F

Not Answered

Q.No: 23 Choose the most appropriate synonym for the underlined word in the given sentence.
The dilapidated building stood on the verge of collapse.

sturdy

well-maintained

smart

ruined

Q.No: 24 Choose the sentence with the correct use of an apostrophe.

The dogs' bark loudly.

The dog's bark loudly.

The dogs bark's loudly.

The dogs bark loudly's.

Q.No: 25 Choose the correct option that completes the sentence logically and grammatically:
They laughed loudly ______ the funny joke.

in

with

for

at

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51

Q.No: 52 A can finish a work in 24 days, B in
9 days and C in 12 days. B and C
start the work but are forced to
leave after 3 days. The remaining
work was done by A in:

5 days

10 days

6 days

8 days

Not Answered

Q.No: 53 The Least Common Multiple (LCM) of 12 and 20 is
______.

120 120

60 60

40 40

24 24

Q.No: 54 I forgot the last digit of a 7-digit telephone
number. If the first digit is randomly dialed,
what is the probability of dialing the correct
number?

7/10 7/10

0 0

1/10 1/10

1/7 1/7

Q.No: 55 The ratio of 6 m to 40 cm is ______.

Not Answered

Q.No: 56 What percent of 6 kilograms is 300 grams?

Q.No: 57 In a bag, the ratio of Red marbles to
Blue marbles is 4:3. If there are 28
marbles in total, how many Blue
marbles are there?

Q.No: 58
Find the Highest Common Factor (HCF) of 13, 43 and 91.

13 13

7 7

1 1

43 43

Q.No: 59 A man drives his motorbike at the
speed of 99 km/hour. What distance
will he cover in 10 hours?

990km

1000km

9.9km

980km

Q.No: 60 The average of 11 consecutive
numbers is 11. What is the largest
of these numbers?

66 66

16 16

121 121

6 6

Q.No: 61
If the cost price of an article is Rs.75 and the selling
price is Rs.55, what is the loss percentage?
(Approximate)

29.67% 29.67%

28.47% 28.47%

27.78% 27.78%

26.67% 26.67%

Q.No: 62 A can complete a piece of work in 20
days, and B can complete the same
work in 30 days. How long will they
take together to finish it?

20 days

24 days

30 days

12 days

Q.No: 63 The average of five numbers is
55. If the first four numbers are
75, 60, 95 and 70, what is the
fifth number?

Q.No: 64 Two coins are tossed once. Find the probability of
getting no tail.

https://osssc.cbexams.com/osssccandresponsesheetapp/Challenge_item.aspx
https://osssc.cbexams.com/osssccandresponsesheetapp/view_Challenge_items.aspx
https://osssc.cbexams.com/osssccandresponsesheetapp/logout.aspx


Q.No: 65

Q.No: 66 Maya receives Rs.1200 as simple interest after
borrowing money for 3 years at 8% per annum.
What was the original amount borrowed?

Rs. 2000 Rs. 2000

Rs. 3000 Rs. 3000

Rs. 5000 Rs. 5000

Rs. 1500 Rs. 1500

Q.No: 67 If the ratio of David's age to
Peter's age is 3:2, and David is
15 years older than Peter, then
how old is Peter?

10 years

30 years

40 years

20 years

Q.No: 68 A merchant purchased 16 kgs of
Rice for Rs.800. He then sold them
at the rate of Rs.55 per kg. Find the
profit or loss percent.

9% Profit

10% Profit

10% Loss

7% Loss

Q.No: 69 An aeroplane covers a certain
distance at a speed of 240 kmph in
5 hours. To cover the same
distance in 1 hour, it must travel at
a speed of:

200 km/hr 200 km/hr

500km/hr 500km/hr

700 km/hr 700 km/hr

1200 km/hr 1200 km/hr

Q.No: 70 A vendor bought 12 kgs of
Sugar at Rs.50 per kg and
10 kgs of Salt at Rs.30 per
kg. Then sells Sugar at 20%
profit and salt at 10% profit.
What is the combined selling
price of both?

Rs. 1050 Rs. 1050

Rs. 1000 Rs. 1000

Rs. 950 Rs. 950

Rs. 1100 Rs. 1100

Q.No: 71

Q.No: 72

Q.No: 73 Farhan's mother's present age is 6
times Farhan's present age. Farhan's
age 5 years from now will be 1/3rd
of his mother's present age. What
are their present ages?

5 and 30

6 and 36

3 and 18

6 and 30

Not Answered

Q.No: 74 What is 52% of 225?

117 117

111 111

127 127

98 98

Q.No: 75 A sum of money amounts to Rs.39 in 2 years
and Rs.43.5 in 3 years. Find the rate % ?
(Approximate)

15% 15%

25% 25%

20% 20%

10% 10%

Not Answered

Section - IV (General Knowledge)

Q.No: 76 Who is referred to as the Missile Man of India?

Homi Bhabha

Sam Manekshaw

APJ Abdul Kalam

Vikram Sarabhai

Q.No: 77 Which articles in the Indian constitution is concerned with
Right to Freedom?

Articles 1-4

Articles 5-11

Articles 19-22

Articles 32-35

Q.No: 78 The phenomenon of high and low tides and
the difference in sea-level gives us _______.

Hydro electric energy

Ocean Thermal energy

Wave energy

Tidal energy

Q.No: 79 Rengali dam of Odisha situated on the river _______.

Sankh

Mahanadi

Sileru

Brahmani

Q.No: 80 What is the approximate land area of India?

39 lakh sq.km

36 lakh sq.km

33 lakh sq.km

30 lakh sq.km

Q.No: 81 Which is the World's largest island that is not a continent?

Borneo

Australia

Madagascar

Greenland

Q.No: 82 The
expenses by
Government
which
promotes
economic
growth and
development
of the
country are
categorized
as:

Balance of payments

Developmental
expenditure

Non-developmental
expenditure

Planned expenditure

Q.No: 83 In RT-PCR medical test, What is the expansion of PCR?

Polymerase Crack Review

Polymerase Check Reporting

Polymerase Chain Reaction

Polymerase Chain Resuscitation

Q.No: 84
The scheme 'PM Surya Ghar' aims to
install solar photovoltaic systems on:

Five Crore Homes

One Crore Homes

Ten Crore Homes

Fifty Crore Homes

Q.No: 85 Great Barrier Reef is situated in _________.

Africa

America

Australia

Atlantic

Q.No: 86
Which animal is the State animal of Andhra Pradesh?

Tiger

Sambhar

Chinkara

Blackbuck

Q.No: 87
The green plants in an ecosystem around
Nagpur will capture about:

10% of solar energy falling on them and convert it
to food energy.

7% of solar energy falling on them and convert it
to food energy.

5% of solar energy falling on them and convert it
to food energy.

1% of solar energy falling on them and convert it
to food energy.

Q.No: 88 The Indian Chief of Defence Staff (CDS)
is usually a ___________ -star officer
from the Indian Armed Forces.

Six

Four

Three

Five

Q.No: 89 In what specific category did Abhinav Bindra win the
Olympic Gold Medal?

25 Meter Rapid Fire Pistol

10 Meter Air rifle

The shotgun (12 Gauge)

10 Meter Air Pistol

Q.No: 90 The Swadeshi Movement gave importance to:

Celebration of Indian Festivals

Self-reliance

Foreign goods

Innovation in goods

Q.No: 91 Non-cooperation programme was adopted by
congress at its ______ session.

Dacca

Bombay

Calcutta

Nagpur

Q.No: 92 Where would you find the Islets of
Langerhans in the human body?

In the Pancreas

In the Ear

In the Brain

In the Kidney

Q.No: 93 The "Ramon Magsaysay Award" is named
after the President of which country?

Philippines

Singapore

Indonesia

Thailand

Q.No: 94 Who is known as the founder of the Grameen Bank?

Muhammad Yunus

Abul Kalam Azad

Amartya Sen

Vinoba Bhave

Q.No: 95 What was the name given to India's first nuclear
research reactor?

Vikram

Apsara

Meghdoot

Chand

Q.No: 96 Which Company recently changed its name to 'X'?

Meta

Tik-Tok

Alphabet

Twitter

Q.No: 97 'P' is the chemical symbol for which element?

Palladium

Platinum

Phosphorus

Potassium

Q.No: 98 Earth Day is commemorated on:

15th August

2nd November

2nd June

22nd April

Q.No: 99 Who is the first Woman President of India?

Droupadi Murmu

Indira Gandhi

Mamata Banerjee

Pratibha Patil

Q.No: 100 Who is the author of "Divine Comedy"?

Plato

John Milton

Sacrates

Dante Alighieri

Section - V (Computer Knowledge)

Q.No: 101 Which of the following IP address class is Multicast?

Class C

Class D

Class B

Class A

Q.No: 102 What role do operating system device drivers play?

Initializes system components

Manages communication between devices and the CPU

Allocates CPU time to processes

Provides file system management

Q.No: 103 If you are allowing a person on the
network based on the credentials to
maintain
the security of your network, then this
act refers to the process of ______.

Encryption

Automation

Authentication

Firewall

Q.No: 104 Email was invented in which country?

Canada

Spain

France

America

Q.No: 105 In which format is an installation file saved on a
Windows computer?

Q.No: 106 The most powerful type of computer among the
following:

Micro Computers

Super Computers

Mini Computers

Mainframe Computers

Q.No: 107 Which of the following is NOT an example of a
wireless communication?

Cable televisions

Bluetooth

Radio broadcasting

Global Positioning System

Q.No: 108 A person who used his or expertise to gain
access to other peoples computers to get
information illegally or do damage is _______.

Analyser

Spammer

Programmer

Hacker

Q.No: 109
In ARPANET, What does P stand for?

Particular

Project

Product

Permanent

Q.No: 110 Which area in an Excel window allows entering
values and formulas?

Menu Bar

Formula Bar

Title Bar

Tool Bar

Q.No: 111
DBMS stands for :

Daily Backup Manage System

Domain Base Memory System

Data Base Management System

Data Bold Memory System

Q.No: 112 Softwares such as Viruses, Worms and
Trojan Horses that have a malicious
content, is known as ______.

Adware

Malware

Spyware

Scareware

Q.No: 113
What is the abbreviation of IoT?

Introduction of Things

Integrity of Things

Internet of Things

Interconnection of Things

Q.No: 114 Insert Date, Format Page Number and
Insert Auto Text are buttons on
the __________ toolbar in MS Word.

Header and Footer

Standard

Formatting

Edit

Q.No: 115 The transmission of a file to our computer from the
internet is called ________.

Downloading

Receiving

Transferring

Uploading

Q.No: 116 Which command will you choose to convert a
column of data into row?

Paste Special > Transpose

Cut and Paste

Copy and Paste

Paste Special > Copy

Q.No: 117 Computer Virus is a ________.

Software

Freeware

Bacteria

Hardware

Q.No: 118 AND, OR are ______ type of operators.

Arithmetic

Logical

Relational

Physical

Q.No: 119 In OSI model, Transport layer is _______.

Fourth layer

Fifth layer

Second layer

Sixth layer

Q.No: 120 The last part of an Internet Protocol Address is called as
______.

Unicast address

Host address

Network address

Mask address

Q.No: 121 Which of the following is a feature of word
wrap in Word?

Automatically move text to the next line when necessary

Is the short horizontal line

Allows you to type over text

Appears at the bottom of the document

Q.No: 122 In Access, ______ are used to store the data.

Form

Table

Report

Query

Q.No: 123 A device or system not directly connected to the CPU
is:

Memory

Keyboard

Offline

Online

Q.No: 124
______ is the ability to combine multiple
names and addresses to same letter document.

Mail formatting

Document formatting

Extended mail

Mail merge

Q.No: 125 What is the use of bookmarks in MS Word?

To ignore spelling mistakes

To locate comments in the document



To identify specific location in a document

To correct the spellings

Section - VI (General Science)

Q.No: 126 What is the term used to describe
organisms that obtain their nutrition
from dead organic matter?

Saprophytes

Biomagnification

Heterotrophs

Autotrophs

Q.No: 127 Animals that give birth to live young,
having developed inside the mother's
body, are called:

Oviparous

Asexual

Viviparous

Marsupials

Q.No: 128 The process of mechanically breaking down
food in the mouth is primarily done by:

Stomach acid

Mucus

Enzymes

Teeth and tongue

Q.No: 129 What role does the stamen play in the fertilization
process?

It produces yellowish pollen grains

It serves as the male gamete

It contains the stigma

It produces ovules

Q.No: 130 Which of the following statements is TRUE about
hydroelectric power?

It does not have any environmental impacts.

It utilizes the energy of moving water.

It relies on the burning of fossil fuels.

It is a non-renewable source of energy.

Q.No: 131
The heart is located in the:

Abdominal cavity, behind the stomach

Chest cavity, slightly left of the center

Head, near the brain

Pelvic cavity, near the bladder

Q.No: 132 Which among the following is the cause for twinkling of
stars?

Refraction

Diffraction

Scattering

Atmospheric refraction

Q.No: 133 ______ is an most important aspect in natural resource
management

Involvement of the government

Participation of the hospitals

Participation of land lords

Community participation

Q.No: 134 Which of the following is an example of good
conductors of electricity?

Rubber

Wood

Graphite

Plastic

Q.No: 135 What is the outermost layer of the brain, responsible for
consciousness, thought, and memory?

Cerebellum

Cerebral cortex

Brainstem

Thalamus

Q.No: 136
What type of oxide is obtained when metal
reacts with oxygen?

Neutral oxides

Metal oxides

Acidic oxides

Amphoteric oxides

Q.No: 137 What is the characteristic property of an acid?

Turns litmus paper red

Turns litmus paper blue

Feels slippery

Conducts electricity well

Q.No: 138 The brain and spinal cord are the main components of
the:

Respiratory system

Circulatory system

Endocrine system

Nervous system

Q.No: 139
Pick one of the following groups that contain only
biodegradable items?

Grass, metal cans , wood

Grass, wood and plastic

Fruit-peels, egg shells and lime-juice

Flowers, grass and artificial leather

Q.No: 140 The unit of electrical resistance is:

Ampere

Watt

Volt

Ohm

Q.No: 141
What type of heart structure does a Pigeon have?

Four-chamber heart

Two-chamber heart

Three-chamber heart

Five-chamber heart

Q.No: 142 The Vienna Convention is related to

Ozone layer

Fossil fuels

Endangered species

Greenhouse gas

Q.No: 143 What is the name given to a substance that can
neutralize an acid?

Catalyst

Indicator

Base

Acid

Q.No: 144 As per the five kingdom system of
biological classification, a biologist
would classify ‘Cuscuta’ under
___________.

Slime Mould

Phycomycetes

Ascomycetes

Plantae

Q.No: 145 What is the difference between the live wire and neutral
wire in India?

400 V 400 V

220 V 220 V

300 V 300 V

350 V 350 V

Q.No: 146 Which of the following is NOT a characteristic of
conventional energy sources?

Finite and exhaustible over time

Can be replenished naturally at a human timescale

Emit greenhouse gases

Relatively inexpensive to extract and use

Q.No: 147 What is Condensation?

A phase of transition from gas to liquid

A phase of transition from liquid to solid

A phase of transition from solid to liquid

A phase of transition from gas to solid

Q.No: 148 Name unique quality that metal possess that
allows them to be twisted into wires and formed
into thin sheets.

Malleability

Conductivity

Ductility

Reactivity

Q.No: 149
Who is credited as the "Father of Genetics" for
his work on pea plant inheritance?

Louis Pasteur

Gregor Mendel

Thomas Hunt Morgan

Charles Darwin

Q.No: 150
The reactivity series of metals is an arrangement
of metals based on their:

Melting point

Reactivity with oxygen

Volume

Hardness


